GREATER BAY AREA
MATHEMATICAL OLYMPIAD
PRELIMINARY ROUND 2021 -2022

GRADE1-KHOI 1

Time allowed: 60 minutes
Thoi gian thi: 60 phuit
Question Paper
Phiéu cau hoi

Instructions to Contestants: (Hudong dan thi)

1.

Each contestant should have ONE Question-Answer Book which CANNQOT be taken
away.

MGoi thi sinh dwoc cap MOT b6 Phiéu cdu héi - Phiéu trd 16i. Thi sinh KHONG DUQC mang
tai liu ra ngoai phong thi.

There are 2 sections in this exam. Section A consists of 10 questions. Each question
carries 4 marks. Section B consists of 10 questions. Each question carries 6 marks. The
total number of questions is 20. Total score is 100 marks. No points are deducted for
incorrect answers or empty answers.

DEé thi gom 2 phiin. Phiin A gom 10 cdu, moi cdu 4 diém. Phin B gom 10 cdu, mdi cdu 6 diém.
D@ thi c¢6 tit ca 20 cdu héi voi tong s6'diém la 100. Tra loi sai hodc khong tra loi déu khong bi
trie diém.

All answers should be filled in the ANSWER SHEET.
Tat cd ddp én phai dwoc t6 vio PHIEU TRA LOL

NO calculators can be used during the contest.
Tuyét d6i KHONG str dung mdy tinh trong qud trinh thi.

This Question-Answer Book will be collected at the end of the contest.
B{ Phiéu ciu hoi — Phiéu tra 10i sé dwoc thu lai sau khi thi sinh hoan thanh bai thi.

DO NOT turn over this Question-Answer Book without approval of the examiner.
Thi sinh KHONG tw y xem dé khi chiea co hi¢u lénh cua giam thi.

Otherwise, contestant may be DISQUALIFIED.
Néu thi sinh vi pham mot trong cic diéu trén, BTC c6 quyén hiy két qua thi ciia thi sinh do.
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SECTION A: 1¢t to 10" Question (Each question carries 4 marks)
PHAN A: Tir cdu 1 dén cdu 10 (Mdi cdu trd 10i diing duwoc 4 diém)

1)  Find the value of 11+4+7+3+5.

Tim gid tri cua 11+4+7+3+5.

A. 30 B. 20 C. 19 D. 29

2)  Find the value of 44+33+23.
Tim gid tri cia 44+33+23.

A.90 B. 100 C. 110 D. 80

3)  According to the pattern, which number should be filled into the box?
Duea vao quy ludt dwéi ddy dé dién so'thich hgp vao 6 trong?

2 . 5 . 8 * 1S \ 17

A.15 B. 12 C.13 D. 14
4) By observing the numbers, which odd number is the smallest?
Quan sat cdc s6’dwoi ddy dé’tim ra s6'1é nho nhat.
278391775617 ~ 228
A.17 B.7 C.3 D.6
5) By observing the pattern, what is the English letter in the space provided?
Quan sdt quy ludt dwdi ddy dé'dién chir cdi thich hop vao chd trong?
B N E \ H N K N i
A M B.N C.L D.O
6)  Refer to the figure below, how many X is / are required to move such that the

number of % per row is equal?
Xét hinh dwé6i ddy. Hoi ciin chuyén bao nhiéu hinh ¥ dé’sd’hinh 3 ¢ moi hang la nhw nhau?

A.2 B.3 C.4 D.1
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7)  Refer to the figure below, how many square(s) is / are there?
Hoi c6 bao nhiéu hinh vudng trong hinh dwoi diy?

A. 10 B.12 C. 11 D. 13

8) By observing the equation, which number should be filled in the box?
Quan sadt phép tinh dwéi ddy dé dién sothich hop vao 6 trong.

27+ |=43
A.26 B. 60 C.16 D.70

9) By observing the pattern, what is the missing figure?
Quan sat quy ludt dwéi diy dé’tim hinh con thiéu.
A\.\*\A\.\?\.\*\A\.\A\.\

Am B. A C. % D.V

10) By observing the pattern, what is the number in the space provided?
Quan sdt quy ludt dwdi ddy dé dien so thich hop vao chd trong.

68, 55,42,29, __
A.15 B. 28 L.~76 D. 16

SECTION B: 11* to 20" Question (Each question carries 6 marks)
PHAN B: Tir cdu 11 dén ciu 20 (Mbi céu trd 1oi diing dwoc 6 diéim)

11) Refer to the puzzle, find the value of A.
Tim gid tri cua A trong phép tinh dwdi day.

A B
+ B B
8 0
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12)

13)

14)

15)

16)

It is known as 1 hour equals 60 minutes. Mum sleeps from 2:35pm and wakes up at
4:55pm. How many minutes does mum sleep in total?

Biét rang 1 gio bang 60 phiit. Me ngi tir 2:35 chiéu dén 4:55 chiéu. Hoi me dd ngii bao nhiéu
phut?

A. 20 B. 90 C. 160 D. 140

Ming has $44. Mum gives Ming $23. Ming uses $8. How much does Ming have now?
Ming c6 44 do-la. Me cho Ming thém 23 do-la. Sau dé Ming tiéu 8 do-la. Hoi liic nay Ming
con lai bao nhiéu do-la?

A.13 B.75 C.69 D. 59

Refer to the figure below, at least how many cubes are there?
Hoi c6 it nhat bao nhiéu hinh Idp phirong trong hinh dwéi diay?

A.12 B.11 C.13 D. 10

If C is a 1-digit number, what is the value of C if the equation below is correct?
Néu C la s6'co 1 chir s, tim gid tri cua C dé dwgc phép tinh ding dwdi ddy.

6xC=8+8+8+8+8+8
A.8 B.6 C. 4 D. 10

Refer to the figure below, how many triangles are there?
Hoi c6 bao nhiéu hinh tam gidc trong hinh dwdi day?

\/

A 11 B.9 C.8 D. 10
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17)  Refer to the figure below, how many line segments are there?
Hoi c6 bao nhiéu dogn thing trong hinh duwéi diy?

A7 B.6 C.8 D.9

18) Refer to the figure below, which figure should be filled in box C?
Tim hinh thich hgp dé'dién vao 6 C trong hinh duwdi ddy.

. L | x A |7 A | B
A A | o * | % C|D
A. A B. ¢ C. % D.0

19) Yan has 13 $1 coins and 2 $5 coins. At most how many $2 coins can she exchange?
Yan c6 13 dong xu 1 d6-la va 2 déng xu 5 d6-la. Hoi c6 bé c6 thé'déi dwoc nhiéu nhit bao nhiéu
dong xu 2 do-la?

A.13 B. 14 C.11 D. 12

20) Anegg weighs 40g and a basket weighs 250g. There are 5 eggs in the basket now, how
many grams is the basket in total?
Mot qua trieng nang 40g va mot cdi ré nang 250¢. Néu c6 5 qua trieng bén trong r6, hoi rd do
nang tat ca bao nhiéu gam?

A. 400 B. 450 C. 250 D. 200
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